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Summed Weights

Logic Tree Nodes

Brookings (42.05, —124.25) : RTGM : 1Hz

I I I I I I I | |
I UCERF3
I ——— UCERF2  [UC3/UC2 = 0.98]
B : : NSHMP CA [UC3/NSHMP = 1.80] |
I
I
B Il _
I|!
I|!
|- | | —
I|!
I|!
| ! | 1l 1 | |
0.18 0.2 0.22 0.24 0.26 0.28 0.3 0.32 0.34 0.36
Logic Tree Ground Motion Distr. (g)
Logic Tree Tornado
I I I I r I I I
M5+ 6.5 M5+ 7.9
|
ELL B ELL B SQL
U3 SE|IS U2 SEIS
ABM ZENGBB
UNIFORM TAPERED
FM 3.1 FM 3.2
Mmax=7.9 [ Mmax=7.6
| | | | 1l | | |
0.22 0.23 0.24 0.25 0.26 0.27 0.28 0.29

Risk-Targeted Ground Motion (Q)



